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Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x10=10
wore SRS emeTza Tew forar
(a) The total number of members of SAARC is
SAARC-3 55 W3 7RI
@) 7
@ 8 (v)
(i) 9 (»)
(iv) 10 (30)

Contd.



(b) Write the full form of TRIPS.
TRIPS-3 75jef Fofh! i~

() Import of goods and services for re-
export to another country is called
entrepot trade. (State True / False)

o oiTe QR ST A W s
e FR[E R aifders smaaa afie 9
R = | (o7 / &% Gy 741)

(d) A banker’s acceptance fulfill financial
needs

QPR TP [ el 279 I
(i) for medium term

T A

(i) for short term
TITIEH AR

(iii) for long term

TP A

(e) State any one law regulating FDI inflows
in India.

SO @WRT derE RN FuEd a4
Rizetzan 93 sizs Srme < |
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() The UNCTAD was established in
UNCTAD % t2fea

(i) 1967 (s>va)
(i) 1965 (Savue)
(iii) 1964 (Sau8)
(iv) 1976 (539v)

(g9 What is the basic principle of most
favoured nation (MFN) ?

- Most Favoured Nation (MFN)S @4«
fetot e
(h) Import quota is considered a tariff tool

of international trade. (Yes / No)

Sl (0! SwEfes A G6f g 3
59 N 2 | (5% /o0%)

(i) India was one of the founder members
of the WTO. (State True /False)

ey 4 Aifee 77 (WTO) fediers 7wy
(TR fooaa @sm e | (9 / orae W 1)
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() The World Bank started operation in
o (@ F-IE WS 2

(i) June, 1944 (S, >»88)
(i) May, 1946 (C¥, S>8Y)
(iii) June, 1946 (TH, S58Y)
(iy) None of the above

GoF IS 72Y

2. Answer the following questions in about
50 words : 2x5=10

woTe S 2T Ted ¢obl NN e foesse
fera ¢

(a) Write a short note on import duty.

TR @9 @2 e @b 5 (G faral |

(b) Write two negative impact of

globalisation.

(IR ITI0R 1! Rl ere faw |
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(¢) Mention two distinct stages of product
- life cycle theory of international
business.

WEE o AT AVSRA bF ©GE K5I B
WY T 9 |

(d) What is greenfield investment ?

T (Fq [ Wi e

(e} Give any two examples of non-tariff
measures of international business.

EEifed I SN-uF ARWR [
7b! Ewigael |

3. Answer any four questions from the
following in about 150 words : 5x4=20

TS CEfe Ml b1faor e Te S@ob 2
foege forai

(a) What are the features of international
business ?

wwEfes AT @EEPTEE & e

(b) Write a short note on special economic
zones (SEZs)

e wdtafes wwa (SEZ)R Raw «ff 53
(ol ot |
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(c) Write a note on ASEAN.
ASEAN-T @*{% 95 (Gl &t |

(d) List out the items included in current
account.

sf%@fim%wéf@mﬁ%aﬁww
ferat |

(e) What do you mean by ‘Most Favoured
Nation (MFN)’?

‘Most Favoured Nation’ 3feiet & ger»

() What are the objectives of World Bank ?
o @ SomipTE & e

4. Answer any four questions from the
following in about 600 words - - 10x4=40

oS SRR e Rpizar 55T BT wool! Wva
foesw o ¢

(@) What do you mean by international
business environment ? Explain
different forms of international business

environment. 3+7=10
wIeEifes aEwe oAk e B TG 2
A 9 | ‘
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(b) What do you mean by Balance of
Trade ? Distinguish between Balance of
Payment and Balance of Trade.

3+7=10
ifeers ©igERy I & 9o e oAfkieiies Boiv
S JifTerE SRR wiER ALk ) -

(c) What is SAARC ? Explain the significant
role of SAARC in regional integration

and development. ' 2+8=10
SAARC f&? wixfoe 9 wiw Srawe 3am
Sl e PR At 4 |

(d) Discuss various sources of financing
in international business.

TPZ RAE 3212 S| 341 |

(e) What is import quota? How does it
differ from ‘tariff’ ? 2+8=10
SEHIE (SO 2 97T 71 T @S 52T
I 77 wifFe

() Explain the role of WTO in promoting
international business.

e A @hiea crae R 3ifes sege
SRl RN 4 |
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(g9 Discuss the role of FDI in India.

wReIFe Aite Ao [ g
- SICESA 3 |

(h) What are the objectives of World Bank ?
How far has it succeeded in fulfilling its
objectives ? Discuss.

™ @9 TSP [ B @2 SeviPTR
R ITreTeItE TS (202 ? SCElbl 41 |
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